Richelieu

CHARNIERE A RABAT

FLAP HINGE

INSTRUCTIONS D'ASSEMBLAGE ET D'UTILISATION
ASSEMBLY & USE INSTRUCTIONS




INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

I LISTE DES PIECES - COMPONENT LIST

CAPUCHON 4 X VIS @ 3.5 x 16 mm
COVER CAP 4 X SCREWS @ 3.5 X 16 mm
CHARNIERE MELO - PARTIE PORTE CHARNIERE MELO - PARTIE CAISSON
MELO HINGE DOOR PART MELO HINGE CABINET PART
I  SPECIFICATIONS - SPECIFICATIONS
PRODUITS INCLUS - INCLUDED PRODUCTS FINI - FINISH
M 1 x Charniére a rabat Melo - Partie Porte
Melo Slap Hinge - Door Part Q Nickel Satiné Nickel Satin
B 1 x Charniére a rabat Melo - Partie Caisson

Melo Slap Hinge - Cabinet Part

H 1 x Capuchon
Cover Cap

M 4 x Vis avec diamétre @ 3.5 x 16 mm
Screws with @ 3.5 x 16 mm diameter

I CHARTE DE SELECTION - SELECTION CHART

| | | |
5
fol fol fol fol q
NOMBRE I | I ! [ ' 80-120
DE CHARNIERES > <
/ NUMBER OF HINGES 4
| [ | |
3
| [ | |
2
I | I
T T 1T 1T T T 1 T 1 T 1 [
500 100 1500 2000 2500

LARGEUR DE LA PORTE (mm) / DOOR WIDTH (mm)

www.richelieu.com



INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

I (\STALLATION

ETAPE 1/ STEP 1

VIS A BOIS RECOMMANDEE A TETE FRAISEE @ 3.5 X16 mm
Recommended countersunk head wood screw @ 3.5 x 16 mm

CAISSON
CABINET

I  REGLAGES - ADJUSTMENTS

REGLAGE LATERAL / LATERAL ADJUSTMENT 0+1.5 mm REGLAGE EN PROFONDEUR / IN-DEPTH ADJUSTMENT 0+2 mm
0 0
1.5 —={+1.5
e
=Y
o=lo
A EFFECTUER AVANT L'OPERATION DE LA VIS DE BLOCAGE A EFFECTUER AVANT L'OPERATION DE LA VIS DE BLOCAGE
To be made before locking screw operation To be made before locking screw operation

REGLAGE VERTICAL / VERTICAL ADJUSTMENT 0+2 mm VERROUILLAGE DE LA VIS / LOCKING SCREW

g
2
o‘r o

A EFFECTUER AVANT L'OPERATION DE LA VIS DE BLOCAGE
To be made before locking screw operation

www.richelieu.com




INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

I CONFIGURATION DU CAPUCHON - COVER CAP SETUP

INSERTION DU CAPUCHON / COVER CAP INSERTION RETRAIT DU CAPUCHON / COVER CAP REMOVAL

CLICK!

I D/MENSIONS DE LA CHARNIERE MELO - MELO OVERALL DIMENSIONS

CAISSON/ CABINET PORTE/ DOOR CAPUCHON/ COVER CAP

33
1.5

Cl

o %@ ] —
D42

b

3.3

L
: ; LA i I
JanY 222
() \ >4
U J
20
195 27 Veuillez noter que les données indiquées sont en milimetres.

Please note that the units are in milimeters.

I D'AGRAMME DES DIMENSIONS - DIAGRAM OF DIMENSIONS

CAISSON/ CABINET

PORTE/ DOOR
i) X
o
)/
1 C 0 |
N 4
/ @26 226
?2.5X5 9.5/10.5 105]95

www.richelieu.com



INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

I ADAPTEURS D'ESPACEMENT - SPACER ADAPTORS

FINI - FINISH

Q Nickel Satiné Nickel Satin

ﬂ 2 mm H 4 mm
?DACPTEUR D'E(S)PAZCEMENT 2mm ADAPTEUR D'ESPACEMENT 4 mm
PACER ADAPTOR 2 mm SPACER ADAPTOR 4 mm
) W
g g
< < >
27 ‘ ‘ 27 ‘ ‘
425 2 42.5 4

_ DIMENSIONS AVEC ESPACEUR - Caisson 16 mm d'épaisseur
DIMENSIONS WITH SPACER - 16 mm Cabinet thickness

2 16
I |

PORTE/ DOOR

PORTE/ DOOR o

1 e T |-

B i e

16 S
In
|
16 L4
)
e ||

PORTE/ DOOR

B b e

16 4
[
A
O
‘ 19
16 (;4
(0]

1.6

PORTE/ DOOR

N

“ERET] —EL

| :

www.richelieu.com

PORTE/ DOOR . l




INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

_ DIMENSIONS AVEC ESPACEUR - Caisson 18 mm d'épaisseur
DIMENSIONS WITH SPACER - 18 mm Cabinet thickness

20

PORTE/ DOOR

PORTE/ DOOR ~

Aj;g'?o; ) j

B h e

18 -2
‘ 18
0]

1
1.6

PORTE/ DOOR

PORTE/ DOOR

TR

B i e

18 2

L}J 19
18 L2
)
L

PORTE/ DOOR ‘

| ——— 1
( i ¢ 0 1 @T i B B

_ DIMENSIONS AVEC ESPACEUR - Caisson 19 mm d'épaisseur
DIMENSIONS WITH SPACER - 19 mm Cabinet thickness

18

8
PORTE/ DOOR ‘

PORTE/ DOOR

(Be | [ [E)e

19
||

0.6

www.richelieu.com



INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

_ DIMENSIONS AVEC ESPACEUR - Caisson 19 mm d'épaisseur
DIMENSIONS WITH SPACER - Cabinet thickness 19 mm

9

PORTE/ DOOR

[ERT [E:

PORTE/ DOOR

19

1
0.6

PORTE/ DOOR

B i e

19
(8
=
o 1
20
‘ 19
]

06 |

PORTE/ DOOR

PORTE/ DOOR ~

n\;gl ‘WOI:I;FW i 9( g o > |

_ DIMENSIONS AVEC ESPACEUR - Caisson 20 mm d'épaisseur
DIMENSIONS WITH SPACER - Cabinet thickness 20 mm

19

2
0.6

18
| |

PORTE/ DOOR

PORTE/ DOOR

N — —

At | [ [ads

20

I

www.richelieu.com



INSTRUCTIONS D’ASSEMBLAGE ET D'UTILISATION | ASSEMBLY & USE INSTRUCTIONS

_ DIMENSIONS AVEC ESPACEUR - Caisson 20 mm d'épaisseur
DIMENSIONS WITH SPACER - 20 mm Cabinet thickness

19

PORTE/ DOOR ‘

PORTE/ DOOR

T p——r—— A —

D o

20
(W
N S
(@]
(@)
| 20
I

PORTE/ DOOR ‘

PORTE/ DOOR

P —

[DWOW( D>O

i

1.6

_ ACCESSOIRES DE FIXATION (INCLUS) - FIXING ACCESSORIES (INCLUDED)

VIS POUR CHARNIERE SANS ADAPTEUR VIS POUR CHARNIERE AVEC ADAPTEUR 2 mm
SCREW FOR HINGE WITHOUT SPACERS SCREW FOR HINGE WITH 2 mm SPACERS
o6 F@—61
@
=1

@ ==
@6 @ -~

18

@G @ -~

D 3.5x16 mm 7
@3.5 @ 3.5x18 mm
VIS POUR CHARNIERE AVEC ADAPTEUR 4 mm
SCREW FOR HINGE WITH 4 mm SPACERS TROU DE FORAGE / DRILL HOLE
@10x26
ﬁ% ]
NED
—
g 5
@® -
v -
@3.5 @ 3.5x20 mm o6 3 26 mm

CANADA Tel.: 1 800 361-6000 Fax: 1 800 363-0193

e e UNITED STATES Tel.: 1 800 619-5446 Fax: 1 800 876-7454






